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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. For the objective type of questions, you have to choose any one of the four
alternatives given in the question, i.e., (4), (B), (C) and (D) and indicate your
correct answer in the Answer-Book given to you.

4. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

S. (a) The Question Paper is Bilingual, i.e., English and Hindi. However, if you

wish, you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language chosen to answer in the box

provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.
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6. Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth,
Earphone or any such electronic devices in the Examination Hall.

7. In case of any doubt or confusion in the Question Paper, the English version
will prevail.

8. Write your Question Paper Code No. 67/SS/A, Set [A] on the Answer-Book.
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GENDER STUDIES
AR ST
(340)
Time : 3 Hours | [ Maximum Marks : 100
g 3 90 | [ quifeh : 100
Note : (i) This question paper consists of 47 questions in all.

(i) Al questions are compulsory and carry marks as indicated against each
question.

(iii Section—A consists of Question Numbers 1 to 30 as follows :

(@) Q. Nos. 1 to 20 are Multiple Choice Questions carrying I mark
each. For these questions, you have to choose the most appropriate
answer from amongst the four choices given as (A), (B), (C) and (D).
An internal choice has been provided in some of the questions. You
have to attempt only one of the given choices in such questions.

(b) Q. Nos. 21 to 30 are other Objective-type questions. Marks are
indicated against each question. Attempt as per instructions given
therein with each such question.

(iv) Section—B consists of Question Nos. 31 to 47 :

(@) Q. Nos. 31 to 37 are very short answer-type questions. Each
question carries 2 marks, to be answered in the range of 80 to
120 words.

(b) Q. Nos. 38 to 44 are short answer-type questions. Each question
carries 3 marks, to be answered in the range of 150 to 200 words.

(c) Q. Nos. 45 to 47 are long answer-type questions. Each question
carries 5 marks, to be answered in the range of 400 to
500 words.

few: (i) 3@ 99-71 7 $d 47 94 B
(i) @t g9 rfer €| g% T % I 39 T & g feu Mg
(i) WUg—h H T T@M 1 ¥ 30 T =R ¥ -
(a) T H@M 1 ¥ 20 T TFwd T 7, 0 7oF w9 1 3 1 B TR
e # feu T AR faswedi (A), (B), (C) 3R (D) ¥ & 998 39w faehed &1 =0
w3 ford| 3 @ Fo gl o sriaies foehed fean mn R sues W@ ywEl @
feu U fomedi B @ had TH T & I T R
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(b) I @& 21 ¥ 30 dh IEHE THR & T | TIh T & b 39 T 5

g fou e d) ves w6 fau fu u w6 SgER s oWl % I g
(iv) @ue-ad Y3 & 31 ¥ 47 % @ :

(a) Y99 T@M 31 ¥ 37, 2 3% & 3 YT YHR & WA 7, e IW 80 ¥
120 w=g ® & B

(b) o T 38 ¥ 44, 3 37 o THAUT FHR b TN &, T IW 150 § 200
el B ¢ #

() T T 45 T 47, 537 & <H-3ITT THR & YA &, ’Hh IW 400 ¥ 500
wedi § e R

r N
(1) Answers of all questions are to be given in the Answer-Book given to you.

aft el % I IR & g IH-Yfeaewn § & ford)
(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the

students will read the question paper only and will not write any answer on
the Answer-Book during this period.

T TH-UF hl Ued & fau 15 e &1 g9y fear w81 wa-ug o foaquor Qe |
2:15 &9 foham SM@M| Qe 2:15 S & 2:30 &9 dh B had TH-U i Ui 31
3 A % SR J IT-YEIH! T DI IR T8l fora|

SECTION-A

Qus—<h

Answer all multiple choice questions :

oft sgfameda wo % W T
1. () In America, women suffrage was granted in the year

(A) 1868 (B) 1869
(C) 1870 (D) 1871
sl ® wfgen AaiieR @ fohg ad o wiefa & 18 1
(A) 1868 (B) 1869
(C) 1870 (D) 1871
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Or / HY4l

(i) In which year was ‘Sati’ abolished?

(A) 1874 (B) 1864
(C) 1856 (D) 1829
‘Tt gem h fhE o § wEE H femm man?

(A) 1874 (B) 1864
(C) 1856 (D) 1829

2. Who is the author of the book, Sex and Temperament in Three Primitive

Societies? 1
(A) B. B. Whiting (B) W. M. Whiting

(C) Margaret Mead (D) R. Brown

e Ug Jwde 37 ot fifufeq grarsds T & oi@sh s &7

(8) o o wrEfen (B) T=o Wo T

(C) wmie e (D) 3o 1A

3. (i) Who published the book titled A History of Civilization in Ancient India? 1

(A) R. C. Dutt (B) P. C. Dutt
(C) Aurobindo Ghosh (D) P. C. Sarkar
feedt 3% fafaersav s Uf=¥me $fear me Y& i fhad yehrtya feram?
(A) 3TRo Hlo Td (B) o Hlo gd
(C) 3nfemgr =y (D) o Ho TWHR
Or / 37947

(i) Which female character is not from the epic the Mahabharata?

(A) Kaikeyi (B) Madri

(C) Kunti (D) Draupadi
T U A HEhTY HETWRA ! Hieel U A& 27

(A) hepeft (B) wieh

(C) et (D) Fel
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4. With which God is Meera Bai associated? 1

(A) Rama (B) Shiva
(C) Krishna (D) Brahma
MeTE fpe WaH & @Y Heiud 87
(A) ™ (B) R
(C) B (D) sr&m
5. Who established the first Dalit school? 1
(A) Raja Ram Mohan Roy (B) Jyotiba Phule
(C) Dr. Annie Besant (D) Bhikaiji Cama
g gfera foemer &t T fhae e
(A) TS THHEEA U (B) SHIfesm Hat
(C) slo T wHe (D) +fiersh T
6. () In which year did relations between Muslim League and Indian
National Congress become strained? 1
(A) 1920 (B) 1919
(C) 1924 (D) 1922
frm od o gfeem o o sfeam Jvma w0 & fedl & &= @ 991 gane
(A) 1920 (B) 1919
(C) 1924 (D) 1922
Or / 37947

(i) When did Sir Syed Ahmed Khan establish the All-Indian
Muhammadan Educational Conference?

(A) 1880 (B) 1886

(C) 1887 (D) 1882

W e IEae W 4 fhm ad d sAfel-3fes qEmied U e Sieid Wi
TIIAT <17

(A) 1880 (B) 1886

(C) 1887 (D) 1882
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7. Who was the first woman graduate of the British Empire? 1

(A) Swarnakumari Ghosal (B) Kadambini Ganguly
(C) Sarojini Naidu (D) Raj Kumari Amrit Kaur
fafew sy § ueelt afgen = 4 of?
(A) TUIGAN =N (B) et T[eR
(C) wURH TmIg (D) TSTHART 3 R
8. Polyandry is found among which of the following tribes? 1
(A) Khasis (B) Todas
(C) Santhals (D) Lechu
T 4 ¥ fopg SHanfa # Sgfedg i AT 918 S 2
(A) T (B) <re
(C) Y™ (D) <9
9. (i) An example of matriarchal family is 1
(A) Khasi (B) Bhill
(C) Santhal (D) Lechu

AJEATEsH THER 1 Th 3G 2

A) @l (B) &

(CR:RIS (D) 9
Or / HYdT

(i) According to 73rd and 74th Constitutional Amendment, how much
percentage of seats are reserved in local government institutions?

(A) 32% (B) 31%

(C) 33% (D) 34%

739 3R 749 GIuniie TIMEE % ITHR T TR geensd o fehad wfaera €
T o e

(A) 32% (B) 31%

(C) 33% (D) 34%
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10. () SEWA, a trade union for poor self-employed woman workers in India,

was founded in the year 1
(A) 1971 (B) 1972
(C) 1961 (D) 1962
IRd # e @Wiia afgen s & fow s+ ¢e gfem qar d weE fea
a9 § gE?
(A) 1971 (B) 1972
(C) 1961 (D) 1962
Or / a1

(i) Who is known as the ‘Nightingale of India’?

(A) Raj Kumari Amrit Kaur (B) Sucheta Kripalani
(C) Sarojini Naidu (D) Aruna Asaf Ali
‘IR 1 Hifcherl’ & A F fp8 I 1T 27
(A) TSHAN A HR (B) ol HuaH!
(C) TR =g (D) 37U HA® 3T
11. Night blindness is caused due to the deficiency of which vitamin? 1
(A) Vitamin C (B) Vitamin B
(C) Vitamin D (D) Vitamin A
‘et form faerfim & wft &% wwor gt 27
A) faafm C (B) foerfim B
(€) faafim D (D) faerfim A
12. (i) Between which age group does the period of adolescence fall? 1
(A) 8 to 18 years (B) 10 to 19 years
(C) 11 to 16 years (D) 11 to 18 years
fpm 3y ot % offe forsitaEen &1 e Imar 87
(A) 8§ 18 a9 (B) 10 & 19 =¥
(C) 11 & 16 =¥ (D) 11 & 18 =9
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Or / HY4l

(i) The important sources of calcium are
(A) red meat, fish, poultry

(B) green vegetables, peas, kidney beans
(C) almonds, bananas, soya products
(D) cabbages, lemons, oranges

HicxIm % AEEYO € @

(A) ot wiE, woefl, dedt ()
(B) & wfesa, wex, Twm

(C) STeM, set, AT & s <t
(D) T, g, HAR

13. Traditional joint family has several structural features. Ahuja, 1997 gave
which of the following? 1

(A) Division of labour in the joint family
(B) Principle of seniority

(C) Familistic organization

(D) Authoritarian structure

IR TYh UNER § g HleHTH fRivard @it §1 1997 ® 3mgen 3 frefafed §

T = fee

(A) EIH UER H sm-faasE
(B) afmar =1 frgia

(C) dUNERaTE HiTed

(D) AR T

14. In which type of family, a woman marries more than one man and may live

together or with each of them separately in turns? 1
(A) Avunculocal family (B) Patrilocal family
(C) Polyandrous family (D) Monogamous family

340/8S [N WA o e.r.0.
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fFa yohR % UfER # T 3d T @ ifue ARl @ W et g 3 9 3hg Wd
2 A T8 I H G TEH-I F e & B2

(A) HTGTEAHE &R (B) fugqeerfia gfEm
(C) wgucil uitem (D) Ul YHER
15. (i) Mortality refers to 1

(A) a measure of the number of deaths in a given population
(B) a measure of the number of births in a given population
(C) a measure of the number of marriages in a given population
(D) a measure of the number of women in a given population
Teg-gt Hefd i B
(A) Topeht @ ¢ Seen | B9 areft didt i T A
(B) forelt & 78 SHEE ® Sl TE@ H A
(C) Toret & 78 SmEn o wfedt 1w $ A
(D) fopeh & 7 S o afgenstt 1 gen H A

Or / 37941

(i) Marriage between Jews is a contract, called

(A) Aashirwad (B) Mehr
(C) Ketubah (D) Sacramental
TR % o= foame T Y 2, T FEAW @
(A) amefiare (B) W&
(C) =g (D) o
16. When was the PCPNDT Act enacted? 1
(A) 1994 (B) 1993
(C) 1992 (D) 1991
fro Hio dlo THo o fo e e =T TT?
(A) 1994 (B) 1993
(C) 1992 (D) 1991
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17. () Under Muslim Law, a son gets of what is given to a daughter. 1

(A) equal (B) double

(C) four times (D) None of these

gaferm ST % 3fdid Th 9 H 9 A fean s 21

(A) ST (B) <A1

(C) =g (D) ¥ & H1g &
Or / 379dl

(i) What are the changes introduced by the Amendment Act of 1991 in
Parsi Intestate Succession Act, 18657

(A) If a Parsi male dies intestate, his widow and children will get an
equal share of the property

(B) The daughters are entitled to an equal share with the sons

(C) The daughter is entitled to half of the son’s share

(D) Both (A) and (B)

gt freetea STufteer AfafEw, 1865 T Hsned A=, 1991 gRI =1 uitadd

fepy e 27

(A) TR T URE gey e ot 8, df IHehl Seiere i 3ueh! fagan ik s=
¥ SR Wi H dfe fear S ®

(B) sfeat «ft g & TaE sUeK e F gher B

(C) 5, §¢ 2 & Y 9T hH FheR 2

(D) (&) 3R (B) i

18. As per the Supreme Court decision in the case of Gaurav Jain vs. Union
of India and Others (1990), what steps are necessary for checking/

curbing trafficking? 1
(A) Counselling (B) Cajoling
(C) Coercion (D) All of these

TRE S MW 9Rd 99 3R 31 (1990) & O H ddisd =Ted % ol & IFTER
TR H A= /Th AN & AT HH-T Hed I3H 3aTH 87

(A) W (B) HATT
(C) o™ (D) =™ & |t

1624 - 1 [N AR 1 P10
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19. () The National Programme for Education of Girls at Elementary Level
(NPEGEL) focusses on 1

(A) developing cluster-wise model school
(B) community engagement

(C) gender sensitization of teachers
(D) All of the above

fies TR W TR A frem &% fow ug wriswn fha W fem 70
(A) THE-9R HicA Tha fashidd T
(B) HmHgIf ST
(C) Toerent w1 fomm Hadieo
(D) 37w &t
Or / 33Ydr

(i) The scheme to provide education for girls from economically
marginalized section of society is

(A) KGBV (B) NPEGEL
(C) MSP (D) BSY
TS o SIS &9 § dfaq I i aSfhal & fou fren wem s H Ao 7
(A) o Sfto dfto o (B) To Ho o Sfie S0 Teo
(C) WHo THo o (D) #flo THo dAT3o
20. (i) What is common among the following movies : 1

Pink, Dangal and Sultan

(A) Women as weaker sex

(B) Male dominance is visible

(C) Women in bold and strong characters
(D) Women in the minority

fiep, o7 3R goard e § o A9 87
(A) 3d wHHeR fom @

(B) &Y w1 seiea fe@dn @

(C) Tt wrgeh 3 womE =i # fewrd &
(D) feai IrcTEes &

(ljzi‘l na ti E a uca t #wlwwlllllllllllll

9899436384, 9654279279

340/SS



Or / HY4l

(i) Customary behaviour that governs people in groups, are denoted as

(A) social mores (B) social norms
(C) family feuds (D) kinship
oggl § A i fRGE e a9 guma Segr o fhe ' 4 guin Sar 27
(A) Tt T (B) \MIN® WHGS
(C) WIRET Hete (D) ATdert
21. Fill in the blanks (any three) : 1x3=3
(a) Article states that the state shall not deny to any person equality
before the law or equal protection of laws.
(b) Article guarantees right for the right against discrimination.
(c) Article guarantees the right to equal opportunities in public
employment.
(d) Article guarantees the right to the prohibition of employment of

children in factories, etc.

(e) Article ensures equal pay for equal work to both sexes.

s =™l 61 qfd HIfm (P15 TF) -

(%) TG o IFIER U, HFI & GHE GUHEAT AT BT o GHH T H THR
& |

(@) 3T "W & foeg IR 6t T <t Bl

() Ve HESeh USHR % FHHE GG & AR hl M el 2l

(F) e HR@Hl e § = o USTIR W Ush oM o AR <l TR &l 2|

() 3= __ qFl formi & folw wam &M & fow @um 9w gifvaa wom)

22. Fill in the blanks (any three) : 1x3=3

(a) Article directs the State to make the provision for securing
human conditions of work and maternity relief for women.

(b) Article provides the directive for early childhood care and
education to children.

(c) Article directs the State to provide free and compulsory
education to children aged 6 to 14 years.

(d) The Maternity Benefit Act is

(e) The Equal Remuneration Act was passed in

Uzn n atl E d uca [ II.IIIJI%HM‘H@ PTO.
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e wEl 1 gfd hifve (@ d) -

(%) FFoBE TSI I Higenati b fo wm b1 Al gifefaei it A wed
ghfad & &1 J@uF sH & 9 <t gl

(@) 31e8e T 1 TR S99 hl @S 3 e & fou fesr Sem ot
2l

(M) IS 6T 14 99 H1 I & = B g IR FEnd fen wem w@
w1 Few @ gl

(F) e @W AfufEm g |
(8) U™ urferfies sAfeufem T i fepam mm)

23. Define in one word/phrase (any three) : 1x3=3

(a) This is the complete process from agriculture production to food
availability to the people. It involves various stages, such as growing,
harvesting, processing, packaging, marketing and distribution of food
products

(b) This is the food security measure of the government to make food
available at subsidized rates

(c) This refers to the country’s food access from the country’s production
and the global market

(d) Insufficient food intake or hunger causes ill health and many
associated deformities. There is a decrease in body size, known
as

(e) It is a global health problem primarily due to iron deficiency.
Th Weg AT I § URAIid Hifu (15 @)

(%) TE Y I ¥ AR AN doh Mo hl Iqcreural deh b1 1 wlsean 7, Fored faftm

(@) a8 fomdt g | IS 3ucied - o ot §thR 1 @I §eaT U™ &
() IE < 6 IATGT IR Afeash IER H < H WA Ugd HI HGHA BT @

() ATATE WIF F Ha AT Y@ F RV TS @ed R FE gefud fasfaat @ #)
TR % FHR F HA A 2, BE FHE S @

() I8 U Afds wred guen g o geg o smeE i s 3

(/jzh na ti E a uca t #wlwwlllllllllllll

9899436384, 9654279279

340/SS



24. Fill in the blanks (any three) : 1x3=3

(a) The National Health Policy (NHP) was first formulated in India in the
year

(b) Sustainable Development Goals (SDGs) were set by the UN General
Assembly in the year .

(c) Ayushman Bharat—Pradhan Mantri Jan Arogya Yojana (AB-PMJAY)
was launched on 23rd September of the year

(d) According to UNFPA State of World Population Report 2020, an
indicator of the desirability of daughters i.e., the sex ratio at birth
is

(e) The condition in which the blood’s capacity to carry oxygen decreases
due to which the person feels weak, dizzy and tired, also linked to
nutritional deficiencies, such as deficiency of iron, vitamin B,,
vitamin A and folates and the prevalence of infectious diseases
including malaria, tuberculosis and HIV also lead to this, is known

as .

b wMl 1 gfd hifve (i @)

() a9 ¥ 9 § veell 9R UHE wrew fifq s 1 ot

(@) a9 H GYh TP HEMW gRI Gad feeeE @ey feifa feu

(M) 23 faamg, H AN TRA—ITIHEA 59 3T FIoHT 6 HI TS|

(") Fo TWo Tho o To T2 AT deg UIYeiwH FUIE 2020 % IFHAR dfe At arsrrar
1 TH Gohdsh IH o IO o U@ & |

(3) uHt feufa S = & 3TfedisH o S 1 &WaT A 8 Sl 8@ SEeh hRuT Saikh
I BN, T M 3 UM THH Bt 21 I8 T qeal bl HH AH TR,

fqafim B,,, foeiftm A &t &t 3t soeht gfd woifen, mfes it wo 3mgo o
afgd dshmes UM o JER A ft JE Bt B 39 T SaT 8 |

25. Write True or False (any two) : 1x2=2

(¢) Women are often disadvantaged compared to men in access to
employment opportunities and conditions of work.

(b) In 2017, world leaders gathered at the UN to adopt 17 Sustainable
Development Goals.

(c) Women are the maximum in the category of marginal workers in rural
areas.

1624 - 1 [N AR 1 P10
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FE /T SR (R1E Q)

() USTR o 3Faadl R &m h oRfeafe & ome & qeu 6t g § Afgend st
aferd &l 2|

(@) 2017 & fawa & =1, 17 Gaq fohE A&l H 30H & ¢ §gF Tg H T gul

(M) urfior &= ¥ g gfres Aot § Afgemd waifie )

26. Write True or False (any two) : 1x2=2

(a) The Special Marriage Act deals with both registrations as well as
solemnization of marriage.

(b) The Special Marriage Act,1954 does not make provision for the
custody of children.

(c) Pre-natal diagnosis refers to not determining the sex of the child in
the mother’s womb.

HEl /eI ST (B1S q)

() fomiv foamg rfufrem, foamg & dohentor 3 FEEMA gH1 & defd 2
(@) fomiv foareg stfufem, 1954 s=ai 6 AR &1 Tag™ T Har 2|
(M) woaqd frem & a1 % & s= % fom & frufor 7@ e R

27. Write True or False (any two) : 1x2=2

(a) Difference theory was based on the belief that men have specific
attributes that women lack. Therefore, men tried to control women in
all sectors and kept all the vocations to themselves.

(b) Robin Lakoff was the first to raise the issue of the relationship
between gender and language through his article Language and
Woman’s Place.

(c) It is perceived that women choose action above words, but men prefer
to talk.

Tl /T Sasy (FE Q)

(%) i fagia 58 favamm W anarha or 6 geol # fafw o €@ & S afensdt #
TE gl gafere gew wefi & # wigensd w fEba e ¥ i et srEEmt W
A 9 WEd 3

(/jzh na ti E a uca t #wlwwlllllllllllll
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(@) R FE S S T s AR FT e % wmem § R s % de
F99 ¥ T H W T TEd =

(TT) TE HET ST ® foh Afeemd Segl ¥ HW HM BT THE DA 7, oAfchd JEN ST
HET TEE L &

28. Write the full form of the following (any four) : 1x4=4
(a¢) SMA
() HMA
(c) DV Act
(d) PCPNDT
(e) UJJAWALA
(f) NGO

frefafed & gof w1 fafew (@8 =w) -

() THo THo To

(@) THo Wo To

(M) o o Tk

(@) dto "o o wWo o Fo

(8) I=TAT (Fo FHo Fo To T&Yo To Teo To)

() o o 3o
29. Match Column—A with Column—B (any four : 1x4=4
Column—A Column—B
(a) Pauline Kolenda (i) Married couples live in their

maternal uncle’s family

(b) A woman marries more than (i) Types of joint family

one man
(c) Avunculocal family (i) Nayars of Kerala
(d) Matrilocal family (iv) Relationship by marriage
(e) Affinal (v) Polyandrous marriage
(f) Ethics (vi) Related to the morality of proper

conduct
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TUE-% & @US-T & 1Y e FHifu (+1E =R) :

WS- TUE-T
(%) Ul whicie () faafga Sre amn & uf@Er & @y wd @
(@) w ufgenn s A AU oW 4 (i) TIH IRER F THH

NICECTGI

(TT) eI IiER (i) HA H TR
(F) WIEAHR IiEr (iv) TodTE g Eey
(3) darfesw weY (v) wEIh foame
(=) Hfa (i) 3faa T () Afdwar A wafua

30. Among the many gender issues related to different dimensions, one issue
is economy. There are programmes on television, radio and various other
forms discussing the equality of men and women in terms of socio-cultural
and economic aspects. Women contribute to the family in different roles,
i.e., as mothers, wives, sisters and daughters. Since work at home is not
monetized, it is not considered ‘work’. In all regions, women spend at least
twice as much time as men on unpaid domestic work.

Moreover, the women who work outside the home suffer from gender
discrimination in terms of they may not get their choice of work often
disadvantaged compared to men in access to employment opportunities
and conditions of work.

Different surveys conducted by organizations and State point out that—
(1) female workers are far lesser in number across all types of workers;

(2) women are the maximum in the category of marginal workers in rural
areas;

(3) this means that though women are counted as workers, they may not
be regularly employed throughout the year. This may be due to
agrarian crises, part-time jobs in urban area among other socio-
economic factors. It was in the year 1981 Census of India, the total
population was classified into three broad sections. Main workers,
marginal workers and non-workers. However, in the 1991 Census,
unpaid workers on farms and family enterprises were added to
capture women’s economic activities more realistically.

(/jzh na ti E a uca t #wlwwlllllllllllll

9899436384, 9654279279

340/SS



fafter st @ wefia 3 <ifies gei § o U ger s—rderawn| g, Jefifes 3

fafor mmeami W B 3R qeul 6l AT - WEhiae SR ST FHHar W Tt =s=iet

% Y fo@m 9 &1 &t ufer 8§ fafim qfteed fame s aem el 32— o,

T, s 3N S H AR i T W ™ B GhH T BT 8, HieT 38 hm’ 1@

T Srar 21wt & § Afgend sddfes sie] sl W OGNl i qor § HA-8-HT g

gy feardt g

3k AT, ST AleeAd B0 H 9T&L i Hdl 8, 378 oififeh HeWTd o EHAT il dSdl

B i I8 SHh! GE 1 HM &1 fHetar| TR o rEedl 3 & 6 feufad e geut

% Tgd h o1 B SR JHAF Bl 2

Tl 3 st g fepw o fofier weferor g9 @@ fY 3R 3w W@ B fh—

(1) @ft 7R % #fiepi o wfgen Afiepl 1 T&N 950 FA 8

(2) umEfior gEt 4 i wfest i Soft 9 afeerd weifus g

(3) 3HHI Hacls Ig B foh Fwfy ufgensti 1 ufuenl & &7 # firmn wmn 2, oferd 32 R
Iy it &9 9 FEta € fRan S ghar 21 I8 SN The, IR0 &1 H STRIhICTR
TR T 3T AHTRTh -3k HHebI & SR gl 98 1981 i WA Hl THUFT
H $A FTEEAT HI qH SATTh S H i AT T AT — &I ik, T A
3 M-ufyes| gretifer, af 1991 K SFwoET 4, wigensti K e wiafafm =
Fiftres Tl 9 A @Y (Yhsd) & fof wWdl 3R uTiETiies STl W 3radie
ftreht I SST AT AT

Answer the following (any four) : 1x4=4
(a) Why women’s work is not considered as ‘work’ done at home?

(b) Mention any two ways in which gender discrimination is visible at
workplace.

(c) Mention where women are present maximum in rural areas.

(d) In which year’s Census report there was classification of workers?

(e) Mention the classification of workers.

frafafga vt § @ frdl = & s afv .

() Tfgeahi &% HM I B BT HH T THT ST 2?7

(@) fordl @ alel o1 3g@ Hifve R wrere ® At Sewe feard 2 2
@) o & § Afgenstt 6 TEn ged 31fUe aEf 87 U Ig@ iU
(@) fopm ad &t SoEn foae § sftest o1 anftestor fepam R ey

(5) oftent & wffertor o1 3g@ <hifsm)
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SECTION-B
wus—-d

Answer the following very short answer-type questions :

Ifd g-3IT T o IW T

31. Name any two Indian Social Reform Movements of the 19th century. 1x2=2

1941 vt & fohgl & GMINe YR AGieHl & AW faRau)

32. (a) What are hegemonic masculinity and femininity? 1+1=2
e geved 3w w87
Or / 379dT
(b) Who is transgender? 2

gigsiet (fawfiafentt) 4 272

33. Name any two Central Government Schemes introduced for women
empowerment. 1x2=2

Hfge HIfthehtol o foTT g THR & g & 61 T8 bl g Arersni & am fafaw)

34. (a) Highlight the factors which led to the decline in a joint family. 2
TIH UGN Dl Fad h AR o W GTel HROT T THRT S
Or / 391
(b) Mention a few indicators of gender inequality. 1+1=2

Sifieh JTFUHAT % $® Hehdehi I 3@ T

35. Write about the primary nutritional problems found among women in
India. (Any two) 1x2=2
IRd H Afgenstt § wufie qivor gedt g ag St g1 fheel @ % faww § fafau)

36. Explain the role of language in promoting gender equality in society. 2

TS H oifieh THEAT I SerET ¢F § T i qfirest i smen Hifvw)
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37. (@) How does community raido contribute to women empowerment? 2
areries A Afgen awfeehor # fopd YR ATeM T 27
Or / 394l

(b) Describe the purpose of gender inclusion fund as envisaged in the
NEP, 2020.

To 3o Ho, 2020 H ufwkfeud fomm wamEyH fifyr % Iew %1 avfa wifdu)

Answer the following short answer-type questions : 3x7=21

TY-ITT T IW T

38. How does gender discrimination affect the economy of a country? 3

Afrer ewra frel Qu Y srioraen w1 %8 ywifad wdr 87

39. (@) What are the three main pillars of sustainable development? 1x3=3
Fad faem & 9\ g @@ w1 82
Or / 3941

(b) Explain the objectives of the Sexual Harassment of Women at
Workplace Act, 2013. 3

HREEIA W GRS W I 3cfied A=, 2013 & I 1 TF FHifom)

40. Briefly write about the role of women in conserving natural resources. 2+1=3

TTehfdeh FETEAT o TR0l H Wigenal 1 yiEeh o IR H §ag # fafeg)

41. What were the main objectives of National Rural Health Mission, 2005? 3
T g wWreed fieE, 2005 % gET 39T w1 97

42. (a) What is the sex ratio? State the reasons for a declined sex ratio in our

country and how it may be rectified. 1+1+1=3
formaaTa = 27 AR ow A forruma # fiwee % oo SR € 3N 38 A G fean
ST TRl B?
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Or / FYdar

(b) What is meant by social change? Mention any two changes you have

noticed in women’s status. 1+2=3
TSR IiEdd | a1 dread 2 7 wigensdl i Rl #§ 39 S @ ufteds e & 3Rt
3g@ i

43. Explain Marital Property Rights. Name the countries where they are
implemented. 3

Jarfes wufd el i =men HIfTw| 37 <o b AW FdqRe J& I AR 8§ 7

44. (o) What do you understand by the objectification of women in the
media? 3

e o afge & a&gwtor & SR T I w1 GHIA B?
Or / JYdl

(b) Define folk media and give examples. 2+1=3
SArepHifear 1 aRwifva Hifg 3R e |t e

Answer the following long answer-type questions :
G -3y % I G
45. (a) Describe the rationale of Gender Studies. 5
fom s1erm % sifae &1 aue Fifm
Or / 379d1

(b) Write about the Gender Studies in India.
IRa # fomm serE & sR # fafen)

46. (a) Mention about the participation of women in freedom struggle in
India. S

URd U Ta=dl GU™ § Afgenati &t arfiedl &1 3g@ $ifs|
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Or / HY4l

(b) List the different types of joint family.
faftl yR & Ty aiEr S g SR
47. Describe the maintenance rights of women under Indian Law. S

WRATA BT o q8d WEAIST % YUY & ARl 1 avi Hifm)
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